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‘Note: 1. Question no. 1 is compulsory I

2. Attempt ¢ A
pt any three questions out of remaining five questions

Q.1.[a] Giventwo lines of re e
i : nes ol regression line e
Find (1) X, ¥ (ii) correlation coels'ﬁ:i: ?V 5=0,2x+ 3y +8=0. (5]
[b] Show that 97 |(2%% = 1) nir.
; (5)

Th‘ « il 1 3
lel ¢ probability density function of a random variable x is zero except at (5]

20, 1,2 and p(0) = 3K, p(1) -
Find () k (i) p (0 <x 523.9(1) =4k — 10k?, p(2) =5k - 1,

[d] Givean example of a graph which has Q 5]

(|) Eulc::ian circuit but not a Hamiltonian circuit
(i) Hamiltonian circuit but not an gulerian circuit - *

Q.2.[a] Find ged (2947, 3997) usin ; i
. g Buclidean Algorith 6
such that 2947x + 3997y = gcd(2947,§9<; ; v )
(b) Tbc four roots of unity 1, -1, i, -i forms ‘ multiplication. (6}
[¢] Find whether the following graphs G = V" B are 5

isomorphic ? Justify.
(1) V = {ab,cd} E ={(a,b),(a,d)ys
2) V' ={1,2,34} E'= {(1,2)Q2

w(c.d).(c.b).(c.d)}
1),3,4).4,1), (4.2);

Taw its Hasse diagram. (6]
ain city install 10,000 electric lamps in the (6]
Jamps have an average life of 1000 burning

rd. eviation of 200 hours, how many lamps might

1in the first 800 burning hours?

i) Between 800 and 1200 burning hours?

[c] (i%@rsc of 2~1 (mod 31) using Fermat’s theorem. (81

\ the Legendre’s symbol of (}2%).

Q.3.[a] Show that (Dg , <) is @
[b] The local authoritie
streets of the cit
hours with a Sf@

- expected W

Q.‘ﬂ'.[a] Calculate the coefficient of correlation petween X and y from the (6)
following data
Blﬂﬂﬂlﬂlﬂlﬂﬂ
nmnnﬂmmﬂ [61

[b] (i) Drawa connected graph for which every edge isa cut edge.

(ii) Show that any conne

cted graph with ‘n-1" edges is a tree.

TURN OVER

56782







